QTY/ UN <b>I</b> TS	ITEM NO.	DESCRIPTION	UNIT	EX AMOUNT	CODE
	1	Work completed 20/12/24 Service Kobalco excavator XE113 989 hrs			
1	Parts	Service filter kit		\$305.00	GST
20	EngOil	Litres Engine Oil	1	\$150.00	GST
12	Fin Dr Oil	Litre Final Drive Oil		\$96.00	GST
4	LabC	Labour Hours		\$400.00	GST

Sub Total \$951.00

GST \$95.10

TOTAL AMOUNT PAYABLE \$1,046.10

Terms: 7 days net

								]
-						1		
Rego #	N5851	Serial #	YY09052449	Hours	528	QTY.	UNIT	AMOUNT.
						I I		
*Carry		lco 500 H				QTY.		
*Carry	out Kobe	elco 500 H	lour Service			I I		
*Carry KOBELCO	out Kobe	PICO 500 H EXCAVATOR I filter (15W40)	lour Service			I I		
*Carry KOBELCO Change E	out Kobe O SK135SR-7 E	EICO 500 H EXCAVATOR I filter (15W40)	lour Service			I I		
*Carry KOBELCO Change E Change C Change Ir	out Kobe O SK135SR-7 E ngine oil and oil Outer air cleaner	PICO 500 H XCAVATOR I filter (15W40)	lour Service			I I		
*Carry KOBELCO Change E Change C Change Ir Change R	out Kobe O SK135SR-7 E ngine oil and oil Outer air cleaner	PICO 500 H XCAVATOR I filter (15W40)	lour Service			I I		
*Carry KOBELCO Change E Change Ir Change R Change R	out Kobe O SK135SR-7 E Ingine oil and oil Outer air cleaner Inner air cleaner	PICO 500 H XCAVATOR I filter (15W40)	lour Service			I I		

Check Fuel line condition

Top up Engine Coolant, check all clamps (Kobelco)

Clean Radiator and oil cooler free from excessive debris build-up

Clean Fuel cap and strainer

Check Engine mounts

Adjust Fan belt condition and tension

Adjust A/C belt condition and tension

Replace Cab filters

Top up Washer bottle

Check Hydraulic oil return filter

Top up Hydraulic oil level and condition (ISO46)

Check Hydraulic hoses, lines and fittings

Adjust Track tension

Check Sprockets and track Rollers

Check Machine for leaks

Check Battery electrolyte and connections

Check All lights and horn

EFT Banking Details	

Rego#	N5851	Serial #	YY09052449	Hours	528	QTY.	UNIT	AMOUNT.

Check Safety lock lever operation

Check Seatbelt

Grease All Pins

Check Slew motor oil (Change at initial 500 hour)

Grease Slew Bearing and pinion

Check Bucket teeth and side cutters (if fitted)

Check Quick Hitch Operation (Check safety pin is fitted if fitted)

Test operation

Fit service sticker

Check over all work carried out (i.e Filters, Fluid levels, Filler caps, Belts, Belly plates,

Panels, Reset service indicator etc)

Travelled to site. Carried out 500-hour service as per above checklist. Replaced engine oil.

Replaced all filters as per list. Checked oils/fluids & topped to correct levels as required.

Checked over machine & tested operation for faults, none evident.

Carried out rest of service & greased machine.

VI898OIL FILTER	1.00	44.21	44.21
4645015W40 DH-2 ENGINE OIL 1L	18.00	10.07	181.31
4018080W90 GEAR OIL 1L	5.00	7.90	39.50
40190ISO 46 HYDRAULIC OIL 1L	14.00	7.96	111.49
GREAMULTI-PURPOSE EP GREASE	2.00	14.00	28.00
VI898:FUEL FILTER SK135SR-7 / 140SRLC-7 / 140LC-11	1.00	93.31	93.31
YN21IFUEL FILTER	1.00	58.73	58.73
VI898 FUEL FILTER	1.00	44.21	44.21
LP11FAIR FILTER INNER SK135SR-7 / 140SRLC-7 / 140LC-11	1.00	67.31	67.31

EFT Banking Details	

<b>Rego #</b> N5851 <b>Serial #</b> YY09052449 <b>Hours</b> 528	QTY.	UNIT	AMOUNT.
LP11FAIR FILTER OUTER SK135SR-7 / 140SRLC-7 / 140LC-11	1.00	96.43	96.43
LQ50\CAB FILTER	1.00	131.60	131.60
YT50\CAB FILTER	1.00	88.10	88.10
ADCSCLEAR SCREEN 30ML	1.00	3.00	3.00
Travel Charges	2.40	130.00	312.00
Total Labour			430.30

 Subtotal
 1,729.50

 Add GST
 172.94

 Total
 1,902.45